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‘ The passive of “Who teaches you English ? " is : 0

L@' By whom you are taught En lish.v

\ﬂ?f By whom English is taught to y
(¢) Who taught you English. b Cl

(d) Whom do you teach JMRglis

\/( The indirect narrati & id to me, do you know me ?”
\(# He asked & r [ knew him.

know him.

* o Peud

me that if [ knew him.
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@ The antonym of the word ‘Sapient’ is

..........

B Wise ([ synonym |
Foolish i

(¢) Wasteful
(d) Safe .I_

9 The correct synonym of the word ‘Forestall’ is ..........
(a) Avoid

u@ﬂ Frighten E both o €¢ ! 0 lll
\{s¥ Prevent (EMLLQ be dﬂd@ !‘g

(d) Disappoint 6 P &

\% Fill in the blank with the correct preposition( ' E

She came ... the library.
(a) in into '
(c) at (d) none of the above

xhich completes the given statement and change

\.9./ Choose the correct a
it into indirect nagghi¢

The teacher

W RS

e Yeacher told me that I might pass. L
I

 “May you pass”. r

wanted me that I might pass.

he teacher wished me that [ might pass.

' i assed.
(d) The teacher wished me that [ might have p

NNHQ




e S
: d’_yﬂj_u (a) N2
b S8 N
et O/ vd

S (a)

JL? Lo lhe (b)
g (@)

%55 (b) 5
Jl}'lfu: :;/ = (©
Ve l_;'éb,r:—( UngJi e /“j S 30002 @
-f—%kauéJ&ﬁfu; et b JESCr s
SoF 2 \BY {%? \jb
ol | e
oy Ol N |
f"b (b) H. (a)
e \@f i ©
e Ui 5o o) A
Jﬁ/f-ﬂ’ (a)

Lok ST W
Lo W r (d)® UP Lyt \ef
}\, PNV g A7 ANV 4
@ LW (a)
@ (d) TV o

'-uféfjtgs_:’:? @

v iz \f b K=slol ke (a)

VLA E U @
a8 Jood (a) B
Joskz (d) Jbusz ot

WNHQ

RS



. e AT BV TN N ,1;;/”: AAA
@ %ﬁ%ﬁaﬁdﬁmﬁﬁmzﬁ%mﬁa%?mﬁrwmaw@;
COW-gST A duretd ereranr  wftm don #,
SUSt ot Sftast @1 sreyd wed ofta Jom I
W e
-4 e Brod e v
B TREE e

v o smeart X 0

foreettoiRaa dfcre & dierar 3icerR alor ? o

mﬁﬁywmﬁﬁﬁ%'
%ﬁéﬁaﬁm%ﬁc”“—a%“”

o HTSAIRT 3TcAhIT Q

NNHQ




% wmﬁmmwﬁgﬁm’
PHITAT AE B ?

(a) uRvneEed faLrEor
(b) <wTarad faQraoT
&y’ oporarae faLrar
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Section-11
9 e S .
‘-”ef Asteroids are found between the orbits of :

\.(ﬂ( Mars and Jupiter
(b) Earth and Mars
(c) Earth and Venus

(d) Jupiter and Saturn

«7.  Which of the following statement is not true ? Qo
(a) Friction can be reduced by converting sliding frictr o rolling friction.

2ol po ®
(b) Friction in air and water can be refu bydstreamlining the shape of

the object.

A polished surface will havagess Acfion.

(c)
\,Qd’)/ Friction can be red t :

@ The planet whi & Bast time to revolve around the Sun is :
\ud) Mer (b) Uranus .
\,M & (d) Neptune

¢ight of an object will be zero at

%) The surface of the earth >
b -

\ﬂa‘fy The centre of the earth

\@0/ At 100 km above the surface of the earth

(d) At 100 km below the surface of the earth
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\4  High Reactivity
(c) Softness O

Which of the following is a weedicide ?

(a) Urea \_M 2,4-D

(¢c) Cowdung (d) NPK

Sodium and Potassium are stored in Kerosene due to their

(a) Low Reactivity

(d) Low Melting point 0

Growth hormone is secreted b
(a) Thyroid ‘b
(b Pituitary &&'
(c) Adre

(d@

irhum audible frequency for human ear is

(a) 200 Hz
(b) 2000 Hz

(c) 20,000 Hz

W 20 Hz
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34, Non-metals react with oxygen to form
@™ Acidic oxide or Neutral oxide
\M Basic oxide

(¢)  Amphoteric oxide

(d) None of the given

@ Which of the following occurs during lightening ?

\m Acid rain ‘ i
(b) Green house effect 6 ®
>(é) Nitrogen fixation

(d) Smog

_36.  The pores in the bread jpddue S bubbles of

(a) Oxygen & (b) Nitrogen
Car@ (d) Nitrogen dioxide

7. g% by which dead remains of plants and animals are decomposed into
itr is called
Desertification
(b) Deamination
g Nitrification
(d) Amination
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J’g. The most reactive metal 18

-».M;(@}:::.:«r,:ii—,@uﬁ

(a) Copper

R

(b) Silver

M Potassium

(d) Calcium

39, The burning of LPG is an example of 0
Wf rapid combustion o

¢
(b) explosion 6 |

(c) slow combustion

(d) none of the given ‘bc! y

AO.  Friction due to flui ﬁd
(a) force 6

(b) ure

R i e -2
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4 ldentfy the substance which is tough, porous and black. It is almost
_. .‘ ! 5t a pure
torm of carbon p

@) Crude oil (b) Coal tar

{(¢) Coal gas w Coke

v#2 The increase in concentration of which gas is not responsible forgmgba
Warming ?
\a__;fT‘ Nitrogen
\_ﬁr Methane O
(¢) Carbon dioxide « 6 .
(d) Sulphur dioxide o
A Which of the following techniqyes P ion should be used to save water ?

(a) Canal irrigation&
\ )b/ Drip irrigati

{C } on
el
4, aking cakes, yeast multiplies rapidly and produces............ gas.
a) Hydrogen (b)  Nitrogen

\JA’J" Carbon dioxide

(cy Oxygen
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T lire anction with air
& Which of the following metals catch fire oN

¢

() Magnesium
i) Sodium
(©)  Calcum

(@) Aluminium

46, Same kind of plants grown and cultivated on a large scale at 2

(a) weed o
crop |
W 3 ;
(c) herb o ' o
ﬁ: (d) shrub Q

u’l’{ . Polymers are made up of alled

(a) layers & )
(b) molecu Q

| 2
ich gas is evolved when magnesium reacts with dilute hydrochlorie acid ©
(a) Carbon dioxide (b)  Nitrogen
-’
(c) Oxygen Wl Hydrogen
\
12
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&5( The lowest temperature at which a substance catches fire is called its '

(a) absolute temperatyre

(b) critical temperature

DU - T S

(c) super temperature

‘@/ ignition temperature

$0.  External fertilization is not found in 0 I
‘M’ Hen

(b) Fish
& g7
(¢) Frog "

S
e

(d) sh @
& 2=
- &7 @
1. Which of the following statement is not &rrectd g .
N9 «
(a) friction acts on both the syrfa Q A

s called

o 5> 7809
\b] static friction is lesgfflan friction qﬁo%fb % %G%] ?:_6_.(%—

. Y289
(c) rolling fnctl:N n sliding friction g;;‘s"@sg \j;?%@#

(d) fricti reduced ‘ £} A3 K al
@ \\ 49173
2. Th@ed to test the charge on an object is : ‘{X% “\\‘Laf( i%i
\
tning conductor &g \( \}L \

) galvanometer # = \
T ‘b qﬁ* v \ RT¢
o %0 § /%
(c) ammeter y \©
Ud( electroscope %0
’ [P.T.O.
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; —— i — . nersists on the retina for about . # .

W The impression of an image persists W

\ % L £
-

1 \th
\yf/ (-l-g) of a second

i o R

of a second

of a second c 0
: ‘\M‘

34.  The junction of optic nerves and the retina i e 1? called :

(a) yellow spot

: (b) choroid 2 Q

:
‘_ uej’ blind spot

(@ pupil \;

3 _%5. Which a@h following is responsible for acid rain ?

NO; and SO,

(d) SO3 and N03

HNHO 14
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Find the | ’f:
@ compound interest yy,; - ; )
18 months at 12.5% per R wilh getm, Re. 4006, i she gave it f :
annum, interest hein o .I
g compounded half year] j
(a) Rs. 800 y 1 ’
Wy Rs.817 A [‘*%bJ |
% |m Rs. 813
(d) Rs.823 -_-)g-s |
%
0@" Find the value of (552 |
(52°) x (~10ab%) x (-2.12%?) fora=1 and b = 3. 1'0%)
o (o) be deleted) R
32 P
(sxfx [Fotixg i)
109
(b) = & ¥ [’_S:] e ( =21
7 %= =5
_as # (85
105 e &
53 S
@ 7 < flox \ X X704 "%
105 L e

. If 15 added to the squa&&‘ber is 6 less than the square of its successor. 3
Then, the number Q & S = A2 6 !
2 .t i
wE = ¥
(a)6§) AT 10 \S“C%;y\.
RV |
@ 38 B
c .
() \
tains 5 red, 8 black and 7 white balls. One ball is chosen at random,
con ) |
\65‘& chosen ball is not black 18 < @E’ ,) 00

probability that the i 2 c k&) .
3 a
(@ 3 . A'@/ 4 %
: - S
\_(,e')/ 3 d 3 8,
5 [P.T..

17
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.9 i 3 b 22 s 7
6. The value of 16x* - 24xy + 9y", when x = Py and y =3 o v \
(L 2%V
-2 (b) I ) A
A K o
) 1 i 0 |~ ¥
FT}F? =

\ﬁé. The area of a trapezium is 28 sq cm and one of 1ts parallel sides 15 8c

% *&t&\#\"‘—\ distance between the parallel sides is 4 cm, then the other parallel '

m, Ny kh-;\ :'Lg | - %
>
_}—-—-%V(Jr(' q(a) 8 cm (b) 7cm - )@?4
3 - 9{ 2
él S et
¥

» k\""' =
C) 9 cm AL Dem
¥R =
Qe
\68. How many persons can be accomm a hall of dimension
s

20m=16m=4.5m, assuming that cac ires 4m’ of air ? Q{ E;

kr 360 ‘b 320
(c) 310 & (d) 240 35
b " GO Q
\‘ 260 12g0
’( ’ 3 3 \3
pm x [ pn+! x [ pm+!
\>@/ The value @s on, ([ )( (1 ) Ei ) 1s equal to

pit X pht x p!)‘

! ' ke 2
) {Pm* 4 Ph*_l & PM#J }
p(_:,,,+2;:+2{) % [PM+n J"J]_?Tﬂq__

| %’”:” ot gt ot

@ » /?W‘T"v"

e 1 O
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e

ﬂﬁ' Which one of the following is a true statement ?

(' » " . *l‘-
a)  0Ois the addition identity for natural number £ ™
| (A£ ¢ A
(b)  Every rational number has its reciprocal w
4
0

Too.lr% Oye ral%_gqp{_tr'j
U b
vkeT” Integers are closed for subtraction EM M € Q *&;\]

(d) Real numbers are closed for division 0 ?:
N

i
7%  The value of ‘ i ﬁ
; a : 1 = 1 is |
[ﬁmﬁ N N ﬁ@*’ﬁfﬁ] :
\ |
Jg + 14 & (o
(a) O : |
o e i)
Z 1
s ‘b Ja we)

& i
\7J. If principal =R MO, Mt of interest = 10% compounded half-yearly, then 4

amount aft 0 : T)f_\o-DGTSU S 2| |
e = \0'/_ s 0 go ¥
50 T = (6 wedath \ \0o 0 ,
y 0 v )
N \ZO; [\ﬂw @ ¢ okt 4u3]
. G
76 QI{)
‘b c)

205000 $oo°

(d) 95000

19
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HB. The digits of a two-digit number differ by 3. If the digits are interchanged, and
the resulting number is added to the original number, we get 143. What is the

O-b=19

original number ?

(a) 36 (b) 76

\(y” 85 @ 89

\#. The value of (J18225 + /18225 + /1.8225 + +/0.018 o

(a) 1.49985 (b) 14,9885 QQWQMWJ

ey 149.985 (d)@ .

The height of two right circul i e same. Their volumes are 16wm’

and 18mm’ respectively. Thg f&tio ir base radii 1s

*g%{ 4:9 Q& X 94 (wﬁ:ﬂl\'\bQ dolefel

d 23

Jb. Whj @owing relationship is named as Euler’s formula :

=V+2

Qisoros ( fepeoated qes ]

\(t')/ F+V=E+2

(d) F+V=E-2

20
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7. Find the smallest number by which the number 2401 must be divided 1 btain i

a perfect cube : L
i) L >

G
\

) 8 A L

(a ®) 4 /'bﬁ% )

27. What is two digit number ?
‘1 (a) 63 Ay 36 o

.’ ’
(c) 45 6@

@' Which is having the largest valuegd 243, ', 5'* and 4°%

w 4200 ‘b 54(‘%/ i L//
© 2 \$ w2 (7 P
. o |
€t/ L -
' Q 1 G
@1 a2 +ab+b? . &

b= ﬁ — 1, then the value ofm 18 fas




&1, 8 men can do a piece of work in 10 days. How long will 10 men take to

complete the same work ? g\ —>1\0

@) 12 days : o - N
\ by 8 days m b

(c) 7days ol \@_m

(d) 6 days

8 The polynomial 2x* — 5x* + mx + n is divisible by x* - 4, ic 0
(@ (m,n)=(2,3)

S (m, n)=(8,-20)

(¢) (m,n)=(-28,20)

(d (m,n)=47)
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$4.  The dimensions of a room are 10m x 8m * 6m. The cost of white washing the

4 walls of the room at rate of Rs. 15 per m’ is : \“i
)
(a) Rs.2300 800 o (Jtb]t g%o
i 25 B o) %6 6
(b) Rs. 7200 6O , 0“){6 (<
~ Q’% 0 rl,?(g 430 o ‘
\}ﬁ(Rs.3240 96 60 60

/
(d) Rs. 5240 % AR t

5. Two identical cubes, each of total surface area 54 cm §gI€ jgined end to end.

What will be the total surface area of the figure @meg?
(a) 54cm’ o &
=
(b) 108 cn’ Q g
\,(23/9-0 cm’ ‘b =0
s W

0 cm’ \$ %

(@) 180cm 5 (Abrbhtih)
Q) 18+ 8 )

NS

2 ) \b . =
fz&J*bT*V\ga A 98
Q{uyg}%g 52 0 Kol
ke DR 3E
‘b \%G\A\gﬁ % g 4-0
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